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B.A. General Examinations 2022
(Under CBCS Pattern)

Semester - VI
Subject : SOCIOLOGY

Paper : GE-2T

Introduction to Sociology

Full Marks : 60

Time : 3 Hours

Group-A

Answer any five of the following questions : 2×5=10

1. Define status.

2. What do you mean by role?

3. Differentiate between ascribed and achieved status.

4. What is culture?

5. Define informal means of social control.

6. Write two agencies of Socialization.

Question Paper
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Candidates are required to give their answers in their own
words as far as practicable.

The figures in the margin indicate full marks.
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7. Define Sociology.

8. What is primary group?

Group-B

Answer any four of the following questions : 5×4=20

9. Explain the nature of Sociology.

10. Differentiate between primary group and secondary group.

11. Write down the functions and role of an individual towards society.

12. Write a note on the impact of technology as a factor of social change.

13. What are the characteristics of culture?

14. Explain the relationship between Sociology and History.

Group-C

Answer any three of the following questions : 10×3=30

15. Discuss the scope of Sociology.

16. Discuss the agencies of socialization.

17. Explain the formal means of social control.

18. What are the causes that are responsible for social change?

19. Explain the relationship between Sociology and Anthropology.
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Or,

Paper - GE-2T

Sociology of India

  Full Marks : 60 Time : 3 Hours

Group-A

Answer any five of the following questions : 2×5=10

1. Define dominant caste.

2. Who wrote the book ‘‘Kinship Organization in India’’?

3. Define family.

4. Mention a few characteristics of community life in a village.

5. Define reference group.

6. Write two differences between Nehru and Gandhi’s views on secularism.

7. What do you mean by pluralism?

8. Define bilineal kinship.

Group-B

Answer any four of the following questions : 5×4=20

9. Define Sanskritization as a process of social change.

10. Discuss the functions of family.

11. Write in brief, why tribes in India are called the indigenous groups.

12. Write a short note on the three types of kinship.

13. Write a note on the problems faced by tribes in India.

14. Define communalism.
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Group-C

Answer any three of the following questions : 10×3=30

15. Illustrate how the plurality of Indian society strives in unity.

16. Discuss the strategies of three phases of women’s movement in India.

17. Discuss the significance of Dalit movement in India.

18. Discuss secularism in the context of Indian Constitution.

19. Discuss the basic features of Indian caste system.
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Or,

Paper - GE-2T

Socioological Theories

  Full Marks : 60 Time : 3 Hours

Group-A

Answer any five of the following questions : 2×5=10

1. Which sociologist used the term ‘Verstehen’?

2. What does Durkheim mean by mechanical solidarity?

3. What is collective consciousness?

4. What do you mean by spirit of capitalism?

5. Define historical materialism.

6. What is meant by ideal type?

7. What is meant by superstructure?

8. Who wrote ‘The Division of Labour in Society’?

Group-B

Answer any four of the following questions : 5×4=20

9. What according to Durkheim is the difference between mechanical and organic
solidarity?

10. Explain the characteristics of social fact.

11. Describe the characteristics of a burequcracy.

12. Explain Weber’s concept of social action.

13. Explain Marx’s concept of class struggle.

14. What is meant by relations of production?
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Group-C

Answer any three of the following questions : 10×3=30

15. Explain the theory of historical materialism.

16. According to Weber, what are the different types of authority.

17. ‘Society is sui generis’—What does this mean?

18. Discuss the three kinds of ideal types.

19. What are the different types of social action according to Weber?
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